Highly durable and offering superior strength the professional 150kg range of platform step ladders are designed for heavy trade use. Combining a host of added features and benefits the professional range features heavy duty aluminum construction and is load rated at 150kg.

If you are looking for fiberglass platform step ladder XG-152FD kindly click on

 $\frac{http://www.ladderfactorychina.com/products/Xingon-professional-fiberglass-platfor}{m-step-ladder-with-safety-gate-ANSI.html\#.WW2x5vl96Uk}$

Features

- -Industrial Duty Rated. Designed for use on industrial work sites where strength, durability and safety is required
- -170kg load rating
- -Strong, heavy duty extruded aluminium construction
- -Wide, anti-slip platform (400x560mm) for a secure work area
- -1000mm handrail height from platform
- -Anti-slip ladder feet for maximum grip on any surface
- -Wheels for easy transport
- -Removable toe-broad for safety work



Model No.	Total steps	Step distant CM	Platform Height- CM	Close height-CM	Platform size CM	Packing size CM
XG-152ED3	3	30	90	190	40*56	190*56*15
XG-152ED4	4	30	120	220	40*56	220*59*15
XG-152ED5	5	30	150	250	40*56	250*62*15
XG-152ED6	6	30	180	280	40*56	280*65*15
XG-152ED7	7	30	210	310	40*56	310*68*15
XG-152ED8	8	30	240	340	40*56	340*71*15
XG-152ED9	9	30	270	370	40*56	370*74*15



Strong, heavy duty extruded aluminium construction



Wide, anti-slip platform (400x560mm) for a secure work area



Wheels for easy transport









GB12142-2007 Safety requirements for portable metal ladders

EN131 BSI Standards Ladders

ANSI 14.5-2007 American National Standard for Ladders-Portable Reinforced

Plastic-Safety Requirements

AS NZS 1892.1-1996 Portable ladders





With 21-year manufacturing experience Established in 1996, Foshan Xingon Aluminum focuses on aluminum profile and aluminum/fiberglass ladder, with manufacturing experience for 18 years.

- -Small order is accepted
- -Quickly response and prompt delivery
- -High quality with EN131 certificate
- -Offer OEM/ODM service
- -Customized your own design available

Process raw material in-house to reduce costs

Process all raw material in house which ensure high quality, prompt delivery and competitive prices.

Compliant with standards

All productions pass EN131 standards tested by SGS, with 91% repeated order rate.

Contact us today

To benefit from our productions and service, please kindly contact us today.

FAQ

Are you a factory or trading company

☐

We are a manufacture major in aluminum and fiberglass ladders/profile

Do you have any certifications

Yes our products have successfully passed EN/ANSI test

How can I get samples□

Please contact us by Email[sales@xgladders.com[] and tell us your requirements

Whats is the MOQ□

No matter how many quantity we will seriously treat every customer

Do you provide OEM/ODM service

Yes we do. All most all of our products are made according to our clients' designs.

We offer OEM/ODM service for 21 years

Where is your factory located

☐

We are located in Guangdong Foshan kindly visit us if possible



QUALITY DELIVERY SUPPLY **METERIAL** Process raw material 5-20Days EN/ANSI 15000PCS/Month by ourselves OEM/ODM **PRICE** MOQ **STORAGE** 21 Years experience Small order is accepted Up to 10000pcs Reasonable and best